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Can I identify the calculation needed to solve a word problem?
Problems involving more and less

On the board, display the following problem:

	Janet has 8 sweets more than Peter. She has 12 sweets. 
How many sweets does Peter have?


Underneath, display two possible answers:

	8 + 12 = 20
Peter has 20 sweets.
	12 – 8 = 4
Peter has 4 sweets.


	Q
Which solution is correct? Why?


Ask children to discuss this in pairs, then take feedback. 

Return to the original problem, re‑reading for meaning and posing the following questions:

	Q
Who has more sweets? How do we know that Janet has more sweets?


	Q
How many sweets does Janet have?


	Q
What do we know about how many sweets Peter has? 
Can he have more than 12 sweets?


	Q
How does this information help us to imagine the problem?


Model the problem by drawing or using two towers of cubes. Then show the problem on a number line, showing the 8 extra sweets that Janet has.  


Repeat the process with a new problem:

	There are 20 more weeds in the garden today than last week when I counted 22. 

How many weeds are there today?


Display two possible solutions:

	22 – 20 = 2
There are 2 weeds in the garden.
	22 + 20 = 42
There are 42 weeds in the garden.


	Q
Which solution do you think is right? Why? 
Explain how you know the one you have chosen is correct and the other is not.


Give children a set of the problems from the resource sheet: Problems involving more or less (see below). 

Ask them to identify which operation is needed to solve each problem.

Resource sheet: Problems involving more and less

	A book costs £11.50.

I have saved £5.

How much more money do I need to buy the book?
	In a game, Ali scored 9 more points than Ryan. 

Ryan scored 65 points. 

What was Ali’s score?

	A dog eats 200 g of dog food a day. 

A puppy eats 50 g a day. How much less food than the dog does the puppy eat each day?
	A cup holds 300 ml of water. A bottle holds 1 litre. 

How much more water
does the bottle hold
than the cup?

	Daisy and Kai collect conkers. 

Daisy has collected 35. 

Kai has collected 17 more than Daisy.

How many conkers has Kai collected?
	On a bus there are 18 passengers downstairs. There are 7 more passengers upstairs than downstairs. 

How many passengers are there upstairs?

How many passengers are there altogether?
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